ST 145y i = X 15
i XATF 4 BT ERRKERAT WILBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
B FAE b X 500/0 1. I%Fﬁttfgfﬁtti”;l‘ﬁttéﬁittfg ’ ’
A L Xk
1 EH#E33IBER
(1) oS4 L i dale Py oD J2 ) DI —At ool 31 | —
(2)  _EFELASh ol 50 | L1|h azf 57— —
2 EEHFEFTIINBE D
(1) JRARELHIEP o 2 F bk —# lopi 16 — —
(2) kLSO 50 | L1|F 17 24— —
3 LR oM 50 | 1. 1[0 2.0l 2. 40 0. 8% 0.8
W AR D &3 7 9 5By
1 FREEIRG R o B T —F 1o 20 0 | —
2 LECBUt o HbR 50 | L2|f 20/ 306t 0.8% 0.8
EhE 3 3 5w
1 IR MR o B2 T i Ik —l 5. 20 8.7 —|  —
2 LEELUSh O iR 50 | L.1[H LU 14f 0. 8%l 0.8
bFELAA O i 50 | 1.1 2. 1 2. 5 0. 8% 0. 8
K| LES Es: 50 | 1.1 [ o. 9Ez 1. Offi 0. Sifli 0. 8
PN EiE 3 7 9 53Hn
1 REEIRS M PN 0D 2 i —Wl 208 32— —
2 _ERCEA DR 50 | 1.1 (% 37 50 0. 8 0.8
VB
1 BEIRBUBIER AN o 22 A DX —t oo e 17— —
2 ERCEA s 50 | 1.1 |4 25" 344 0. 8% 0.8
EFREAS 0 g 50 | 1. 1[0 2.0l 2. 50 0. 8%l 0.8
2 LJRET [k A 50 | 1.1 ﬂitt?%Ettﬁﬁitti’@ﬂittf%
T (LR X
1 [EE3 3 5iRy
(1) Rl o> f2 A Hh Ik —ft 15f@ 24— -




SF0 145 i = X °H
i XATF 4 BT ERRKERAT WILBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
By bJERET (2)  EFELAA O 50 | L.1|% 3yfr 5054 0.8 0.8
2 kRIS Hk 50 | 1.1 [ 2. Ofdi 2. 4Eﬁ 0. 8[2 0.8
JIFE Ei#E 3 35k
1 EREER AN N o B Hh X —E 14t 21 - -
2 FEREAAh o Mgk 50 | L1|F 2z2f 37 — —
WRETEFR G T A8 ILfRva
1 R N o B A Hh I el 4861 | —
2 RELEA o 50 | 1.0 |# 8.9 9.8 0.8#k 0.8
LIS 0 i 50 | 1. 1[0 2. 480 3. OELE 0. 84l 0.8
E{EMIE: R S 1A B AR PN D JR X0 i 6.2 9.5  —| —
LFRLLA o Hie 50 | 1.1 (% 13 154d 0.8k 0.8
Z| BAS VR FOEREERAR I
1 REERE MG o 2 DO —t 4.4 6.4 —| —
2 hREELLS o> Mgk 50 | L1 7.9 14t 0.8 0.8
EFELAS 0 b 50 | 11| 2.0l 2. 50 0. 8% 0.8
L & T b 50 1.1 ﬂ?ttzﬁﬁttﬁiﬁbtfﬁfﬁttﬁ
T LA X
1 BFEREHIRN O R A KR —#l 6.5 7.60 — —
2 EERLA O 50 | 1.0 9.2 19F@ 0. srm 0.8
] itk Rk 50 | 1.1 |77 bt bl b Y b
AT LR Kk
1 [EE3 35Hhn
(1) FEEH T Hgk N o B2 FH B K3k —di 220 40 0 — —
(2) LRSS OHI 50 | L1k 42f 69 @ — -
2 ELS o 50 | 1.1 [0 1.9 2. 4 0. 8% 0.8
H T2 E#E 3 3 Fih
1 BRI PN o B M K el 2npn 33 | —
2 kLSO 50 | 1P 4oF 63 | —




ST 145y i = X 3E
i XATF 4 BT ERRKERAT WILBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
bl T GRS T A LA * Y Y A B
1 BRI o B A Hl X I —#d 9.5 18  — —
2 LERLIA o i 50 | L1|f 21 32 0.8
RELIS O 50 | 1.1[# 2.0l 2. 3% 0.8
flligz Ege 50 | 1.1 W 0.8 1. O 0.8
| R Esin 50 | 1.1 (W 0.6 0. 8F 0.8
7-| E ESEY 50 | 1.1 [#t 0.6l 0.8t 0. 74l 0.7
ERH [EEcaRIAESET 50 1. 1 |77 bh HET b ¥ e e b
T LA X ek
1 FEMGEF TG
(1) Bt L Hindale Py o B2 Tl PRI e 14 220 | —
(2)  _EFELiso g 50 .19 30 42 — —
2 LbRREA O
(1) BE4= L s P oD B2 Y i X dec —e 12
(2)  EFRCLASOHIR 50 L1|% 19
T I 50 | 1.1 [#d 0.8
75 PRI g 50 | 1.1 0.7
i Ece 50 | 1.1 1.9
i3 JRET L PR 50 | 1.1 [fFEH
[EEeglatidee s
1 [EE3 35w
(1) 72 3= el v o0 22 A i IR — 1spE 23— —
(2)  _LEELASh D HEL 50 | L1 32 454
2 _EFRLIAh o Hig 50 1.1 [ 8.9 124
A P E=eEn 50 | 1.1 [l 0.6[: 0. 85
=H E#E 3 3 Fih
1 BRI PN o B M K el 2upn 32 | —
2 kLSO 50 | L1|f 39 59 | —




SF0 145 i = X 1H
i XATF 4 BT ERRKERAT WILBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
A VLERRE G TAR LRI
1 BEEREUIEL P o B A X — 13 17 | —
2 LELISl o 50 | L1|f 19 290 0.8l 0.8
RELIS O 50 Ll%lﬂ%Zﬁ%OﬂEOﬁ
= Ei#E 3 3 5imn
1 BRI PN 0 B A K —fel 2088 32 | —
2 kLo 50 | L1|p 35h 55 —| —
EFRLIA o Hitkek 50 | 1.1 [ nﬁ 12 0. gl 0.8
S MR LK 50 | 1.1 Fﬁtl:%%rhtlzf%[ﬁttﬁﬁttﬁ
AT LA X
1 FREEIRG R o B T —l 6.8 7.6 0 —|  —
2 LFEEIA o M 50 L1|% 14E;E

wfox%oa
bR Ecerd 50 1.0 [t 2.3

&

i 0.8 0.8




